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from keras.datasets import fashion_mnist
(X_train, y_train), (X_test, y_test) =

fashion_mnist.load_data()
fashion_mnist¥\ 95
779 aYTATLDERT —9%
AL

[F4ETF—9 : 60000%%]
[FRFF—% : 10000%%])

.
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X_train = X_train[:3000]
y_train =y train[:3000]
X_test = X_test[:300]
y_test =y test[:300]
[ZNERT—% : 600004t - 3000#%]
[F7ZXF5F—%: 100004 - 300#%]

X_train = X_train/255.0
X_test = X_test/255.0
BORHK: 0~255%256F4R > O~ | DfEICE
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import matplotlib.pyplot as plt
ma’rplo’rlibd)pyploﬂ:\,"i7“'77%. ETB3EVa—-IL%
AAD

plt.imshow(X_train[|], cmap="'Greys')
plt.show()
X_train[ | ]DEET 927 L—DRRTETRTS
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item_names = ['T¥ vV, 'XR>V, '"TILA—/3="'FLR', 'a—},
‘B IIN,, AA—F, ' R==H=", Ny T TN T =Y
print('IEfRS NI, item_names[y_train[1]])
y_train[ | JOEBESINILERTTS
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import keras
keras¥\W\ ) =—a—SIRxY b T—=IDSA4T73) einAAL

model = keras.Sequential([
keras.layers.Flatten(input_shape=(28, 28)), <« AhJE
keras.layers.Dense( 10000, activation='relu'), < PRE
keras.layers.Dense( | 0, activation='softmax') «H HE
1)
—a=FNRYT=IDANARE - PRE - HHRBDEREEETS
AAE:28X2BDHRDT— 9% | )RITEFNTRLTRITET
PRE: —2—0O A 10000T,. 2BEANDRELTS
HAR: —2—a BHNEBRBDSNILEIOT, 2EENEBLTS
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model.compile(optimizer=‘adam’,
loss="sparse_categorical_crossentropy’,
metrics=['accuracy'])
ETFNEZ TR EBRETS
optimizer Ri#i{t%E3 37/ XL
loss HEABEN (EREL FPAHENREE KD S)
metrics FHAEBIEX

model.fit(X_train, y_train, epochs=10)
FHEH(ZFVI78) 2 I0RL LT MNET—9EAVTER 21T
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score = model.evaluate(X_test, y_test)
print(‘loss=', score[0])
print(‘accuracy=', score[ | ])
ETFINEFHEL. TR —9ZHAVWTIELAR - ERBRERDS
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import cv2
EERBNDSAT IV EAVR—T5

im = cv2.imread('pic.jpg')
Fpic.jpgs €WV 774NV E5kAAL

im = cv2.resize(im,(28,28))
EREAH28X28I45L5 ICHAE (ME) 75

im = cv2.cvtColor(im, cv2.COLOR_BGR2GRAY)
BGRND3EEZ7 L—IE#T 3

im = cv2.bitwise_not(im)

BERETS

plt.imshow(im, cmap='Greys')

EBREITL—DRRTERERTS
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import numpy as np
BIEBEENSATS5) 24 KR —+T5

images = []
RWBIL2EBZDET (VRF) EMEAILLT S

data_expand = np.expand_dims(im, axis=0)
—a=SNRY I TR ETELT—IHAIERTS

images.append(data_expand)
fcFlimagesic X LT —9%2EMT S

predictions = model.predict(images)
feFlimages|iAMIN-ERDT — 9 =—a—SNR Y NI— 7% {FE->THHETS
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for i in range(np.size(predictions[0])):
i=0,1,-,9 kLTHARBOEZ(I0E) =1+ YiRY

print(item_names[i], ' : ', predictions[0][i]*100, '%’)
DIHEINBERE. TATLZEICHEATS

bunrui = np.argmax(predictions[0])
TATLO~TATLIDB TRLERNIEVLDONESERDS

print('p3EFER ', bunrui, item_names[bunrui])
TATLDESLZTDTATLEEHEATS
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